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' SARDAR PATEL UNIVERSITY
o " : BCom (II Semester) Examination
Monday, 17 February 2014
10.30am - 12.30 pm
Corporate Accounting

. Advanced Accounting & Auditing (IIf) (UBO2ECOMO01/13)

' _ : - “Marks : 60
Note : Appropriate working should form part of solution.

- Que:1 (15)
Pioneer Products Ltd. has an issued share capital of 1, 300, 9 % redeemable
preference shares of Rs. 100 each and 45,000 equity shares of Rs. 10 each. The preference
shares are redeemable at a premium of 10 % on 1 April, 2011. The company’s balance sheet as
on 31 March, 2011 was as follows.

Balance Sheet

- Liabilities Rs. Assets Rs.
Red. Preference shares (9 %) 1,30,000 | Fixed assets 6,50,000
| Rs. 100 each
45,000 Equity shares of Rs. 10 4,50,000 | Investments 37,000
each (FP)
Profit & Loss A/c 80,000 | Bank 63,000
Creditors 90,0007
7,50,000 7,50,000

For redemption of preference shares, the Company decided :

(1) To seli all investments

at Rs. 30,000.

(2) To finance part of the company from company funds, subject to Ieavmg a balance of Rs.
23,000 in the profit & loss account.

(3) To issue sufficient equity shares of Rs. 10 each at a premium of 20 % per share to raise
the balance of funds required.

The preference shares were redeemed on due date and the issue of equity shares was fuIIy

subscribed.

Pass necessary journal entries to record above transactions and prepare the balance
“sheet of the company soon after the redemption of preference shares.

Que:1

OR

(A) Discuss different types of preference shares.

(5)

(B) Discuss in detail the guidelines for issue of Bonus shares. (10)
Que:2 . (15)
Discuss in detail accounting standard AS : 1 (disclosure of Accounting Policies).
OR '
Que:2 (15)

Discuss in detail accounting standard AS : 2 (Valuation of inventory).




Que:3 (15)

Fo"oWing details are available for Max Ltd.
* Particulars Max Ltd. Max Ltd.
2005-06 (Rs) 2006-07 (Rs)

1 Equity Capital 20,00,000. 25,00,000
2 | General Reserve 4,92,000 | 7,03,000
3 Profit & Loss Account (Cr.) 1,92,000- 1,29,000
4 Profit before Tax 36,00,000 40,55,000
5 Tax provision 12,00,000 11,00,000
6 Sales (Net) 3,10,00,000 4,33,00,000
7 Opening Stock 20,000 22,000
8 Closing stock 22,000 24,000
9 Purchases 1,92,00,000 2,79,00,000

Calculate : (1) Gross profit‘ ratio(2) Stock turnover ratio (3) Return on shareholders’ fund, and
(4) Net profit ratio. Compare the performance of these two years and pass your remarks,

Que:3 (15)
What is ratio analysis ? Discuss advantages and limitations of accounting ratios..
Que:4 (15)

On 1% January, 2004, Real Industries Ltd. issued 1,000, 10 %

debentures of Rs.

100 each repayable at the end of three years. It was decided to institute a sinking fund for the
purpose. The investments were expected to earn 5 % net per-annum. Sinking fund table shows
that Rs. 0.317208 invested annually at 5 % amounts to Rs. 1 in three years. Investments were
made in multiples of hundreds only. ‘

Pass necessary JOURNAL ENTRIES in the books of the company to record debenture
transactions assuming investments realized were Rs. 68,500 and that the company had
sufficient bank balance. Also prepare Sinking.fund account.

OR
Que: 4

(A) Discuss : ’Types of debentures.

(B) Discuss various ways for redemption of debentures.

-y

(8)
(7)
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